RV-10 WING HARDWARE
March 3, 2004
5 pages
BAG 1152
AN426AD3-3
0.060 AN426AD3-3
RIVETS (LB)
BAG 1153
AN426AD3-3.5
1.000 AN426AD3-3.5
RIVETS (LB)
BAG 1154
AN426AD3-4
0.400 AN426AD3-4
RIVETS (LB)
BAG 1155
AN426AD3-4.5
0.040 AN426AD3-4.5
RIVETS (LB)
BAG 1156
AN426AD3-5
0.010 AN426AD3-5
RIVETS (LB)
BAG 1157
AN426AD3-6
0.010 AN426AD3-6
RIVETS (LB)
BAG 1158
AN426AD4-7
0.020 AN426AD4-7
RIVETS (LB)
BAG 1159
AN426AD4-8
0.020 AN426AD4-8
RIVETS (LB)
BAG 1160
AN470AD4-4
0.260 AN470AD4-4
RIVETS (LB)
BAG 1161
AN470AD4-5
0.210 AN470AD4-5
RIVETS (LB)
BAG 1162
AN470AD4-6
0.140 AN470AD4-6
RIVETS (LB)
BAG 1163
AN470AD4-7
0.230 AN470AD4-7
RIVETS (LB)
BAG 1164
AN470AD4-8
0.030 AN470AD4-8
RIVETS (LB)
BAG 1165
AN470AD4-10
0.020 AN470AD4-10
RIVETS (LB)
BAG 1166
AN470AD4-11
0.020 AN470AD4-11
RIVETS (LB)
BAG 1172
POP RIVET AD-41H
22.000 RIVET AD-41H
POP RIVET TANK BAFFLE
BAG 1173
POP RIVET AD-42H
64.000 RIVET AD-42-H
POP RIVET TANK BAFFLE
RV-10 WING HARDWARE

BAG 1174
POP RIVET CS4-4
90.000 RIVET CS4-4
POP RIVET
BAG 1175
POP RIVET LP4-3
80.000 RIVET LP4-3
POP RIVET
BAG 1176
POP RIVET MK-319-BS
260.000 RIVET MK-319-BS    POP RIVET
BAG 1177
POP RIVET MSP-42
36.000 RIVET MSP-42
REPL MD-42-BS
BAG 1178
K1000-06 PLATENUTS
26.000 K1000-06
PLATENUT  6-32
BAG 1179
K1000-08  PLATENUTS
30.000 K1000-08
PLATENUT  8-32
BAG 1180
K1000-3  PLATENUTS
56.000 K1000-3
PLATENUT 10-32
BAG 1181
K1000-4/MK1000-428
4.000 K1000-4
PLATENUT 1/4-28
2.000 MK1000-428
MINIATURE PLATENUT
BAG 1182
K1100-08  PLATENUTS
224.000 K1100-08
PLATENUT-C-SUNK 8-32
BAG 1183
MS21051-L08 PLATENDTS
6.000 MS21051-L08
832 SINGLE LUG P/NUT
BAG 1184
MS21053-L08 PLATENDTS
22.000 MS21053-L08
100 DG CS S/L PLT NUT
BAG 1185
K1100-06 PLATENDTS
12.000 K1100-06
PLATENUT-C-SUNK 6-32
BAG 1186-1
MISC FLUID FITTINGS
5.000 AN818-4D
NUT,FLARE COUPLING
5.000 AN819-4D
SLEEVE,FLARE COUPLING
4.000 AN832-4D
UNION,BLKHD TUBE-TUBE
3.000 AN924-4D
NUT,BLKHD
BAG 1187-1
BUSH375-3/437-4
4.000 BUSHING SB375-3 SNAP-IN 3/16ID 3/8 OD 24.000 BUSHING SB437-4 SNAP-IN 1/4ID 7/16 OD 32.000 BUSHING SB625-7 SNAP-IN 7/16ID 5/8OD
BAG 1188
AN507-6R6  SCREWS
36.000 AN507-6R6
SCREW,FLT HD
BAG 1189
AN509-8R8  SCREWS
275.000 AN509-8R8
SCREW,FLT HD STRUCT
RV-10 WING HARDWARE

BAG 1190
AN515-8R8  SCREWS
12.000 AN515-8R8
SCREW,ROUND HD
BAG 1191
AN526C632R8 SCREWS
6.000 AN526C632R8
SCREW,TRUSS HD SS
BAG 1192
SCREWS, FINE
2.000 MS24693S10
100 DG 440 CS M/S
1.000 MS24694C14
100 DG CS SS SCREW
BAG 1194
AN3-BOLTS
48.000 AN3-4A
BOLT
BAG 1195
AN3-BOLTS
30.000 AN3-5A
BOLT
BAG 1196
AN3-BOLTS
4.000 AN3-6A
BOLT
6.000 AN3-7A
BOLT
8.000 AN3-10A
BOLT
4.000 AN3-11A
BOLT
2.000 AN3-12A
BOLT
12.000 AN3-13A
BOLT
4.000 AN3-14A
BOLT
4.000 AN3-15A
BOLT
BAG 1197
AN3-BOLTS
6.000 AN3-16A
BOLT
2.000 AN3-17A
BOLT
6.000 AN3-20A
BOLT
4.000 AN3-21A
BOLT
BAG 1199
AN4 -BOLTS
2.000 AN4-11A
BOLT
4.000 AN4-14A
BOLT
2.000 AN4-32A
BOLT
12.000 AN4-7
BOLT
BAG 1200
WING TIP ATTACH   -10
88.000 K1000-06
PLATENUT  6-32
88.000 AN507-6R6
SCREW,FLT HD
BAG 1201
NAS1036-58/NAS1309-58
8.000 NAS1306-58
CL. TOLERANCE BOLT
8.000 NAS1309-58
CLOSE TOLERANCE BOLT
BAG 1203
AN365-1032 NUTS
90.000 AN365-1032
NUT,STOP        10-32
RV-10 WING HARDWARE

BAG 1204
NDTS 428/624/632/918
8.000 AN365-428
NUT,STOP       1/4-28
10.000 AN365-624A
NUT,STOP       3/8-24
8.000 AN365-632A
NUT,STOP         6-32
2.000 AN365-832A
NUT,STOP         8-32
8.000 AN365-918A
NUT, STOP      9/16
BAG 1206
MISC. JAM NUTS
14.000 AN310-4
NUT,CASTLE        1/4
6.000 AN316-4R
NUT,THIN JAM      1/4
6.000 AN316-6R
NUT,THIN JAM      3/8
2.000 MS21083-N3
1032 NYLOK HEX NUT
2.000 MS21044N04
440 SELF LOCK HEX NUT
BAG 1208
ROD END BEARINGS
4.000 BEARING COM-3-5    LARGE AILERON BEARING
2.000 BEARING CM-4M
1/4X1/4 ROD END BRNG
4.000 BEARING F3414M
3/16X1/4FEM R/E BEARG
4.000 BEARING MD3614M    3/16 X 3/8 ROD END
4.000 VA-146
FLANGE BEARING
4.000 VA-162
PUSHROD END
4.000 VA-169
THREADED ROD END
4.000 AN490HT8P
MALE ROD END (W-418)
BAG 1210
AN960-10/-10L WASHERS
160.000 AN960-10
WASHER (AN3)
12.000 AN960-10L
WASHER, THIN
BAG 1211
AN960-416/-416L
48.000 AN960-416
WASHER
1/4
18.000 AN960-416L
WASHER (032)      1/4
BAG 1212
WHSRS-616/-916/-3/-8
10.000 AN960-616
WASHER         3/8
10.000 AN960-916
9/16 ID AN WASHER
8.000 AN970-3
WASHER,         7/8 OD
18.000 AN960-4
#4 WASHER
8.000 AN960-4L
#4 LIGHT WASHER
8.000 AN960-8
WASHER       #8
BAG 1213
MS24694-S67/COTTER PN
2.000 MS24694-S67
100 DG FLT HD SCREW
12.000 MS24665-151
COTTER PIN
BAG 1214
BUSHINGS/CAV-110
6.000 BUSHING 1/4X3/8X.2 BUSHING/WD-616/716
2.000 CAV-110
DRAIN VALVE
BAG 1215
AILERON BRACKETS
2.000 A-1006-PC
HINGE BRACKET
1.000 A-1007-L-PC
HINGE BRACKET
1.000 A-1007-R-PC
HINGE BRACKET
RV-10 WING HARDWARE

BAG 1216
STALL WARN HDWRE
2.000
ES 421-0107 CONNEC MALE SLIP-ON CONN.
2.000
ES 421-0108 CONNEC FEMALE SLIP-ON CONN.
2.000
ES DVI8-188B-M     MOTOR CONNECTORS
1.000
ES E22-50K MICRO S LONG ARM MICRO SWITCH
1.000
VA-196
STALL WARNING VANE
BAG 1217
MISC. WING PARTS
1.000
VA-195A
STALL WARN.MNT.PLATE
1.000
VA-195B
STALL WARN.PLATE
2.000
T-1010
ANTI ROTATION PLATE
2.000
A-1014
SPACER
2.000
VA-112
DRAIN FLANGE REV 2
2.000
VA-141
FUEL FLANGE
BAG 1218
BELLCRANK/FtTEL SCREEN
2.000
BUSH BR-065X3/8X2. BELLCRANK BUSHING 789
2.000
FINGER STRAINER    STRAINER
2.000
AT6-058X5/16X4     ALUM TUBE
BAG 967
TIP LENS HARDWARE ALL
4.000 K1000-06
PLATENUT  6-32
4.000 AN507C632R8
SCREW,FLT HD SS
0.010 AN426AD3-5
RIVETS (LB)
1.000 DOC W/TIP LENS
LENS INSTALL INSTRUC.
